
Fair Sharing Fruit Monster
Complete each
student’s work.

Each pig carries
          blocks.

This is
how I’m going

to solve it.

This is my
strategy.

Each frog
would carry

         blocks.

Each turtle 
would carry
       blocks.

Whose strategy
do you prefer? Why?

There are            total blocks.

There are            of us turtles.

Each of us
should carry

           blocks.

It’s our birthday soon and we each want a 
cake. The recipe calls for 3 cups of sugar 
and 4 eggs. Each cake will have 10 slices.

There’s a x2 in each of 
these equations because...
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